o2 293 22 A7 504 AB oF 229l ]9 e BAEE
o= 9 717
A
:
|
B : C
|
|
N
/ \\
/ ~
/ S
EY F

@ 371 @ 4 71 @ 574 @ 6 7N ® 77



2.

gl

|

——

1jo .
SR
B! =
o min
o
LN
T
T W
TR
L)
o T
T o
T =
g mjn
o~
w H
B N
ol )
" T

Y

o5 =
Al oo o
X X N
@ Q

e Hot.

9|

a9 o, HAHAE A

AL

©)

o)

<+

oW

NI
o
N

g

® Zt=7] glolk 15° 9



olJ
RS
o

A v

bR

B
o

o
KA

r

o

b

@ ©-E-0-9 ® ©-0-6-6

® 6-6-6-9

® ©-e-0-0
@ 9-6-e-0



4.

A

}1j_1—
=

@ 2rcm

ZAo]7} 5em ©]4l,

@ 3mcm

Y07} 5rem

@ 4nrcm

2 Q1 24

@ 5rem

I
=

® 6rcm



e
L

2

T

N

@ A%

e
N

1a

® 34

@ A&



=l

At geog A
2

q

o m|
TR

S

|
|
|
———t -

Be

mmo
N

© <

© At

1@0
N

1

o A%

Be
-

0.6 26,6 06,6 ®6,6 006



7.

A= THE 6 7ie] Aol
717

@®© 25% @ 274

o

@ 28%

@ 29%

N
rlo

® 30%



@® 120° @ 140° ® 150° @ 160° ® 165°



9.

ThE 1 O] AFZHEOA OB oF 22 gHofl A

o

.



10.

)

A A=A AL L m, nF A BHP, Q ROl A5t &2
?

s ofd
rlo

@ 1//m, ILn 1A mLin ©|t},
@ 1//P, 1//Q eI P//Q °lH.
® P1Q, P//R °|¥ QLR ©Jt}.
@ 1//P, m//P °|H 1//m ©]t}.
® PLQ, QLR ©|¥ P1R ©]Jt}.



11, e 2401 $le] A e 7 A P
Azl HAoltt. £& AL Tatet




ShH?

g7

L x o gtel 8

o]
AN

® x>3 @ x>7 ® x>8

@ x<8

@ x<7



13. o3 2"3 Zo] AABC 9] 9]F9 AB, AC & ZHZ gt o= st
OADEB,0ACFG € 183, CD ¢ BG ¢ w48 p a1 & o,
AADC 9} 50l A3 52707 gut2 A #z| o)X A9

G
D
A
F
E
B C
@ AADG, SASTS @ AABC, SASTE
® AABC, ASATHE @ AABG, ASATHE

® AABG, SASE



o|J
‘_.ao
-

i
—t

e
L
o

e
L

L0

X

e
L

XU
uze]

X

,_.#_.o_.o
s

o

ﬂmo



15.

A
T
o] 4
of 4

FET} =
AA o] AAES Tk GYH FA A o
5:9] o] 7 0] HER S uf, a+ b O] 22
2
a'! 4,6
b |
@ 5 ® 6 @ 7 ® 8

ol T W AT FAIE 7] sl vh=t

L
— T



16. o= 2™ 22 =R e JAEF 9| FuE FoH?

@ 30cm? @ 40cm?® @ 60cm?

@ 75cm?® ® 100cm?®



17. o= dE9 WHEE B, A& ol dE2 ZHolE &A
4’7

@ 20mcm?2, 40mem? @ 24mem?, 20mem?
@ 20mcm?, 20mcm? @ 24mcem?, 40mem?

® 22rcm?, 407mcm?



18. Ao AA=ANA RABY FHZY 2717} 150° D 0], L2
2419] Zolol wrel Yol WA F] Aole] ]y

<
N

<

O 12:1 @ 6:1 @ 4:1 @ 6:2 ® 12:5



19. ©e 12 90 9|4 A0 //BC, 5.opt§§ — 6em |, 5.0ptAB = 3cm
oltt. BD 7} ¥ O 9] A&¢ W, 5.0ptAD ¢] Zo]=?

@ 6cm @ 9cm @ 12cm @ 15cm ® 18cm



il

@5

O 51 =



